
D102 BCOMD102

B.COM. FIRST YEAR EXAMINATION, 2012
(Correspondence Course)

PAPER -II : FINANCIAL ACCOUNTING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

à.1. {ZåZ{c{IV ì`dhmam| H$mo gmohZ H$s OZ©c _| {c{I`o -
Record the following transaction in the Journal of Sohan
2011 ê$n`o/Rs.
_B© 1 amoH$‹S> 30,000 én ò, _mc 15,000 én ò VWm \$ZuMa 20,000 én ò H$m bJmH$a
ì`mnma àmaå^ {H$`m& / May 1 Started business with cash Rs.30, 000; goods
worth Rs.15, 000; and furniture worth Rs. 20,000.
_B© 2 ~¢H$ _| O_m H$am`o /May 2 Deposited in the bank  50,000
_B© 3 ZH$X _mc IarXm /May 3 Goods purchased for cash 30,000
_B© 4 \$ZuMa IarXm d M¡H$ go ̂ wJVmZ {H$`m /
May 4 Purchase of furniture and payment by cash 10,000
_B© 5 amOoe go _mc IarXm /May 5 Goods Purchased from Rajesh 14,000
_B© 6 amOoe H$mo _mc dm{ng cm¡Q>m`m /May 6 Goods returned to Rajesh 2,000
_B© 10 {ZOr à`moJ hoVw ~¢H$ go ê$ µ{ZH$mco  /
May 10 Withdraw from bank for private use 2,000
_B© 10 ì`mnma _| à`moJ hoVw ~¢H$ go ê$ µ{ZH$mbo /
May 10 Withdraw from bank for business use 10,000
_B© 15 EH$ df© H$m Qo>cr\$moZ {H$am`m MwH$m`m /
May 15 Paid telephone rent for One year 800
_B© 21 J«mhH$m| H$mo _mc H$s gwnwX©Jr Ho$ {cE Kmo‹S>m H«$` {H$`m / May 21
Bought a horse for Rs. 2,000 for delivering goods to customers 2,000
_B© 23 am_cmc H$mo _mc ~oMm /May 23 Sold goods to Ramlal 4,000
_B© 25 _m{cH$ Zo ̂ mB© amOZ go ì`mnma Ho$ {cE F$U {c`m /May 25
Proprietor took a loan from his brother Rajan for business 2,000

(i) d`-i`-m-@P.T.O.(iv)

\$_m] Ho$ EH$sH$aU Ho$ g_` na gm_mÝ`V`m H$m¡Zgr g_ñ`mE± CËnÞ hmoVr h¢? BZ g_ñ`mAm|
H$m {ZnQ>mam gå~pÝYV \$_m] H$s coIm nwñVH$m| _| {H$g àH$ma {H$`m OmVm h¡?
What problems generally arise at the time of amalgamation of firms? How
these tackled in the account nooks of concerned firms?

à.4. bdbr noÝQ²>g {b{_Qo>S> AnZr Abda emIm H$mo ~rOH$ _yë` na _mc ̂ oOVm h¡,VWm ~rOH$
_yë` cmJV _| 20 à{VeV bm^ Omo‹S>H$a {ZpíMV {H$`m OmVm h¡& AmnH$mo {ZåZ{c{IV
gyMZmAm| go àYmZ H$m`m©c` H$s nwñVH$mo _| ñQ>m°H$ ImVm, emIm g_m`moOZ ImVm VWm emIm
cm^-hm{Z ImVm V¡`ma H$aZo h¡ …
Lovely Paints Ltd. sends goods to its Alwar Branch at invoice price, which is
fixed at cost plus profit of 20% on invoice price. From the following
information prepare Branch Stock Account, Branch Adjustment Account and
Branch Profit & Loss Account by Stock and Debtors Method in the books of
head office:

Rs. Rs.
Opening Stock at cost 24000 Sales(at invoice price) 2,22,000
Branch Expenses 10,000 Stock at the end (at invoice price) 34,000
Goods sent to Branch 2,45,000 Claim from insurance co.

against Loss in transit 8,000
Loss of goods in transit 15,000
Pilferage of goods (Abnormal) 4,000

AWdm /  OR
VcnQ> H$mo à^m{dV H$aZo dmcr Aew{Õ`m| Am¡a VcnQ> H$mo à^m{dV Zht H$aZo dmcr
Aew{Õ`m| H$mo g_PmAmo& / Explain of Errors effecting Trial Balance and Errors
not effecting Trial Balance.

à. 5. XrZmZmW EÊS> gÝg Zo 1 OZdar 2011 H$mo 1,00,000 ê$n`o H$s cmJV H$s _erZ
IarXr& BgH$s H$m`©erb Ad{Y 10 df© h¡& ̀ h {ZíM` {H$`m J`m {H$ _yë` øg 12 µ5
à{VeV H$s Xa go H«$_mJV eof {d{Y go An{c{IV H$aZm h¡& àW_ Mma dfm] H$m _erZar
ImVm ~ZmB ò& / On 1st January 2011 Deena Nath & Sons purchased a machine
costing Rs. 1, 00,000.Its working life is 10 years. It has been decided to
depreciate it at the rate of 12.5% on the diminishing Balance Method. Show
the Machinery Account for the first four years.

AWdm /  OR
Am`-ì`` ImVm Š`m h¡? Am`-ì`` ImVm Am¡a àm{á Am¡a ^wJVmZ ImVo _| AÝVa
g_PmAmo& / What is Income & Expenditure Account? Explain difference in
Income & Expenditure and Receipt and Payment Account.  ���



(iii) d`-i`-m-@P.T.O.(ii)

_B© 26 amOoe H$mo nyU© ̂ wJVmZ _| MwH$m`o /
May 26 Cash paid to Rajesh in full settlement 11,450
_B© 28 am_cmc {Xdm{c`m hmo J`m Am¡a Cggo 1 én`o _| 25 n¡go Ho$ {hgm~go ̂ wJVmZ àmá
hþAm& / May 28 Ramlal become insolvent and a payment was received at the
rate of 25 paise per rupee.
_B© 30 21 _B© H$mo IarXm J`m Kmo‹S>m _a J`m d CgH$m ed 50 én`o _| ~oMm& /
May 30 The horse bought on May 21 died, its carcase was sold for Rs. 50.
_B© 31  ̂ wJVmZ {H$`m/May 31 Paid for

ñQo>eZar / Stationary 400
{H$am`m / Rent 2,000
ñQ>m\$ H$m doVZ /  Salaries to staff 5,000

AWdm /  OR
coIm§H$Z H$m joÌ Š`m h¡? coIm§H$Z Ho$ {H«$`mË_H$ joÌm| H$mo g_PmB`o&
What is the scope of Accounting? Explain the function area of Accounting.

à. 2. {ZåZ gyMZmAm| go 31 {Xgå~a 2011 H$mo EH$ ~¢H$ g_mYmZ {ddaU ~ZmB`oŸ&
Prepare a Bank Reconciliation Statement from the following particulars as
on 31st Dec.2011
(i) amoH$‹S> ~hr H$m A{Y{dH$f© eof 9,870 (Balance as per Cash Book (Cr.) 9,870)
(ii) ì`mnmar Zo _mh _| 890 ê$ µ Ho$ M¡H$ Omar {H$`o naÝVw 31 {Xgå~a VH$ ̂ wJVmZ hoVw

àñVwV Zht {H$`o J`o (Cheques issued in the month Rs. 890 but not yet
presented for payment up to 31st Dec.)

(iii) ì`mnmar Zo 310ê$ µHo$ M¡H$ g§J«h hoVw  ~¢H$ _| O_m H$am ò naÝVw ~¢H$ Ûmam g§J«h Zht {H$ ò
J` o&/(Cheques deposited in to Bank for collection but not yet
collected by Rs.310/-)

(iv) ~¢H$ Zo h_mao AmXoemZwgma 242ê$ µ H$m ̂ wJVmZ {H$`m (Payment made by Bank
Rs.242/- as per standing instructions)

(v) ~¢H$ Ûmam ̂ wZmE JE {~c Aà{V{îR>V hþE 60/-ê$  (Discounted Bill of Rs. 60/-
dishonoured)

(vi) ~¢H$ Ûmam ã`mO d cm^m§e H$s am{e 180 én`o g§J«h H$s JB© (Interest and
Dividend collected by Bank Rs.180/-)

(vii) ~¢H$  Zo 100/- ê$ µ JcVr go ì`mnmar Ho$ ImVo _| O_m H$a {X`o  (Amount
wrongly deposited by Bank Rs.100)

AWdm /  OR

 {ZåZ{c{IV H$mo g_PmAmo / Explain of following –
(i) ñW{JV Am`JV ì`` /Deferred Revenue Expenditure
(ii) ^yc-MyH$ ImVm /Suspense Account
(iii) AmOrdZ àdoe ewëH$ /Life Membership Fees
(iv) dgycr ImVm /Realisation Account

à. 3 EŠg VWm dmB© EH$ \$_© _| g_mZ AZwnmV _| gmPoXma h¢& 31_mM©, 2011 H$mo CZH$m {MÆ>m
{ZåZ àH$ma h¡ / X and Y are equal partners in a Firm. on 31st March, 2011 their
Balance Sheet stood as follows)

Balance Sheet as on 31st March, 2011
Liabilities Amount (Rs.) Assets Amount (Rs.)
Bank Overdraft 24,200 Cash in hand 750
Creditors 17,800 Investment 15,000
Partners’ Capital A/c Debtors 28,500
X- 15,000 Stock 20,750
Y- 10,000 Furniture 2,000

67,000 67,000
CÝhm|Zo OoS> (Z) H$mo {ZåZ eVm] na gmPoXma ~Zm`m -
They admit Z into partnership on the following terms:
(i) »`m{V ImVm 10,000 ê$ µ go Imocm Om`o&

Create Goodwill of Rs.10, 000.
(ii) XoZXmam| na 10 à{VeV H$s dm{f©H$ Xa go Sy>~V F$U Am`moOZ ~Zm`m Om`o&

Create Provision for Doubtful debts at 10% on Debtors.
(iii) \$ZuMa H$m _yë` 25 à{VeV go H$_ {H$`m Om`o&

Write down furniture by 25%
(iv) {d{Z`moJm| H$m _yë` 2,500 go ~‹T>m`m Om`o

Increase the value of investment by Rs.2,500
(v) OoS> 12,500 én`o ny§Or Ho$ cmEJm VWm Cgo cm^m| _| 1/3 {hñgm {X`m OmEJm&

nwamZo gmPoXma H$s ny§Or Cgr AmYma na g_m`mo{OV H$s Om òJr& nwZ_y©ë`m§H$Z ImVm,
gmPoXmam| Ho$ ny§Or ImVo VWm OoS>  Ho$ àdoe Ho$ ~mX H$m {MÆ>m ~ZmB`o&
Z shall bring Rs.12, 500 as his Capital his share in profit will be 1/3rd.
The Capital of old partners are also to be adjusted accordingly.
Prepare Revaluation account, Partners’ Capital accounts and the
Balance Sheet after the admission of Z.

AWdm /  OR



(i) d`-i`-m-@P.T.O.(ii)
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B.COM. FIRST YEAR EXAMINATION, 2012
(Correspondence Course)

PAPER -III : BUSINESS REGULATORY FRAMEWORK

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

Q. 1. What is a void agreement and void contract ? Distinguish between
void agreement and viodable contract .

ì`W© R>hamd Am¡a ì`W© AZw~§Y Š`m h¡? ì`W© R>hamd Am¡a ì`W©Zr` AZw~§Y _| AÝVa
{b{IEŸ&

OR / AWdm
What do you mean by discharge of a contract ? Explain the various
ways in which a contract may be discharged.

AZw~§Y H$s g_mpßV go AmnH$m Š`m Ame` h¡? CZ VarH$m| H$m dU©Z H$s{OE {OZHo$
Ûmam EH$ AZw~§Y H$s g_mpßV hmo gH$Vr h¡Ÿ&

Q. 2. Write a short note on any two of the following :

{ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßnUr {b{IE -

(i) Mistake / JbVr `m ŷb

(ii) Misrepresentation / {_Ï`m dU©Z

(iii) Consideration / à{V\$b

OR / AWdm
Define Agency. What are the essentials of an agency ? How is it
terminated ?

EOoÝgr H$mo n[a^m{fV H$s{OEŸ& EH$ EOoÝgr Ho$ Amdí`H$ VËd Š`m h¢? `h H¡$go
g_mßV hmoVr h¡?

Q. 3. What is agreement to sell ? Distinguish between sale and agreement
to sell.

{dH«$` H$m R>hamd Š`m h¡ ? {dH«$` Am¡a {dH«$` Ho$ R>hamd _| AÝVa ñnîQ> H$s{OEŸ&

OR / AWdm
What is the effect of destruction of specific goods of contract of
sale? Discuss.

_mb Ho$ Zï> hmo OmZo H$m {dH«$` AZw~§Y na Š`m à^md hmoVm h¡? {ddoMZm H$s{OEŸ&

Q. 4. What is promisary note ? What are its essential elements? How does
it differ from a bill of exchange ?

à{Vkm-nÌ Š`m h¡? BgHo$ à_wI VÎd H$m¡Zgo h¢? `h {d{Z_`-nÌ go {H$g àH$ma
{^ÝZ h¡?

OR / AWdm
Who is consideration holder and holder in due course ? Compare
between a holder and a holder in due course.

YmaH$ Am¡a `Wm[d{Y YmaH$ {H$go g_Pm OmVm h¡? YmaH$ Am¡a `Wm {d{Y YmaH$ H$s
VwbZm H$s{OEŸ&

Q. 5. What is meant by 'consumer'? Explain the rights of a consumer.

Cn^moº$m go Š`m Ame` h¡? EH$ Cn^moº$m Ho$ A{YH$mam| H$m dU©Z H$s{OEŸ&

OR / AWdm
Define partnership. What are the types of partners ? Explain.

gmPoXmar H$mo n[a^m{fV H$s{OEŸ& gmPoXma {H$VZo àH$ma Ho$ hmoVo h¢? dU©Z H$s{OEŸ&

���
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PAPER -  IV  : TAX PROCEDURE & PRACTICES

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

Q. 1. What are the objectives of taxation ? Discuss the features of
indian tax system.

H$amYmZ Ho$ Š`m CÔoí` h¢? ^maVr` H$a ì`dñWm H$s à_wI {deofVmAm| H$s
{ddoMZm H$s{OEŸ&

OR / AWdm
Write a short note on the direct and indirect taxes.

àË`j Ed§ AàË`j H$am| na g§{jßV {Q>ßnUr {b{IEŸ&

Q. 2. Define agricultural income. Give examples of such incomes which
are related to manual jobs but not from agricultural income.

H¥${f Am` H$s n[a^mfm Xr{O òŸ& Eogr Am`m| Ho$ CXmhaU Xr{OE Omo hmWm| go {H$E
OmZo dmbo H$m_ go Vmo gå~pÝYV hmo bo{H$Z H¥${f Am` go Z hmoŸ&

OR / AWdm
State the objectives and special features of the Central Sale Tax
Act 1956.

Ho$ÝÐr` {~H«$s H$a A{Y{Z`_ 1956 Ho$ CÔoí`m| Ed§ {deofVmAm| H$m dU©Z H$s{OEŸ&

Q. 3. Explain the provisions of sections in 14 and 15 of Central Sales
Tax Act regarding declared goods.

Kmo{fV _mb go gå~pÝYV Ho$ÝX«r` {~H«$r H$a A{Y{Z`_ H$s Ymam 14 Ed§ 15 Ho$
àmdYmZm| H$m dU©Z H$s{OEŸ&

OR / AWdm

(i) d`-i`-m-@P.T.O.(ii)

What is subsequent sale of goods ? Explain the liabilities of
Central Sales Tax upon such sales.

_mb H$s CÎmdVu {~H«$s go Š`m Ame` h¡? Eogr {~H«$s na Ho$ÝÐr` {~H«$s H$a H$m
Xm{`Ëd ñnîQ> H$s{OEŸ&

Q. 4. Describe the procedure of assessment of tax under the Central
Sales Tax Act.

Ho$ÝÐr` H$a A{Y{Z`_ Ho$ AÝVJ©V H$a {ZYm©aU H$s à{H«$`m H$m dU©Z H$s{OEŸ&
OR / AWdm

What do you mean by point of tax ? On what point of sale a
dealer is assessed for tax under the Rajasthan Value Added
Tax Act.

H$a {~ÝXw go Amn Š`m g_PVo h¢? amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_
Ho$ AÝVJ©V {H$g {~ÝXw na H$a bJmE OmZo H$m àmdYmZ h¡?

Q. 5. Explain the method of compulsory registration of dealers under
the Rajasthan value added tax act 2003.

amOñWmZ _yë` n[ad{Y©V H$a A{Y{Z`_ 2003 n§OrH$aU H$s {d{Y H$mo
ñnîQ> H$s{OEŸ&

OR / AWdm
Against what orders can be appeal made to the tax board ?
Explain the procedure of an appeal to the tax board.

{H$Z AmXoem| Ho$ [dê$Õ H$a _ÊS>b H$mo Anrb H$s Om gH$Vr h¡Ÿ? H$a _ÊS>b Ho$
g_j Anrb H$s à{H«$`m H$mo g_PmB òŸ&

���
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PAPER -  V  : BUSINESS STATISTICS

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

{ZX}e … g^r àíZ hb H$s{OEŸ& g^r àíZm| Ho$ A§H$ g_mZ h¢Ÿ&

Q. 1. What do you mean by Index number ? Describe the importance &
limitations of Index Number.

gyMH$m§H$m| go Amn Š`m g_PVo h¢? gyMH$m§H$m| Ho$ _hÎd d gr_mAm| H$m dU©Z H$s{O òŸ&

Q. 2. Calculate Bowleys efficient of skewness ?

~mCgo H$m {df_Vm JwUm§H$ kmV H$amoŸ&

Size / AmH$ma 10-20 20-30 30-40 40-50

F / Amd¥{Îm 10 20 30 20

Q. 3. Given the following/ {ZåZ gyMZm Xr JB© h¢ -
X - Y

Mean / _mÜ` 68 150
SD / à_mn {dMbZ 2.5 20

ghgå~ÝY JwUm§H$ (r) = .6

Find the regression equations

XmoZm| àVrJ_Z g_rH$aU {ZH$m{b ò -

(i) d`-i`-m-@P.T.O.



Q. 4. Calculate Arithmetic Mean, Median, Mode from the following data :

{ZåZ g_§H$m| go g_mÝVa, _Ü`H$m VWm ~hþbH$ H$m {ZYm©aU H$s{O ò -

CS /  Ho$ÝÐr` AmH$ma 5 15 25 35 45 55 65 75

F / Amd¥{Îm 15 20 25 24 12 31 71 52

Q. 5. Calculate standard deviation and its coefficient

à_mn {dMbZ d CgH$m JwUH$ kmV H$amoŸ&

No. of workers 5 4 6 3 2

Weight (in kg) 40 45 55 65 70

Q. 6. Calculate karlpearsons coefficient of correlation.

H$mb©{n ©̀gZ H$m ghgå~ÝY JwUm§H$ kmV H$amoŸ&

Age (years) 10 15 20 25

No. of players 80 60 50 40

Q. 7. Write notes on the following -

{ZåZ na {Q>ßn{U`m§ {bImo -
(i) Skewness / {df_Vm
(ii) Dispersion / An{H$aU
(iii) Collection of Data  / g_§H$m| H$m g§J«hU
(iv) Importance of Statistics / gm§p»`H$s H$m _hÎd 5+5+5+5

Q. 8. Find trend values by least square method :

Ý ỳZV_ dJ© ar{V Ûmam CnZ{V _yë` kmV H$s{OEŸ&

Years 2001 2002 2003 2004 2005

Sales 35 56 79 80 40

Q. 9. What do you mean by time series. Describe components of time series.

H$mb loUr go Amn Š`m g_PVo hmoŸ& H$mbloUr Ho$ g§KQ>H$m| H$m dU©Z H$s{O òŸ&

Q. 10. Constuct the Fishers Index Number.

{\$ea Ho$ gyMH$m§H$ H$r aMZm H$s{O òŸ&

2005 2006

Commodity / Price / Quantity / Price / Quantity /

dñVw _yë` _mÌm _yë` _mÌm

A 5 10 7 10

B 4 25 8 50

C 2 10 1 5

D 10 5 20 10

���

(iii)(ii)
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PAPER -  VI  : BUSINESS ECONOMICS

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

Q. 1. Define Business Economics. Explain the role of business economics
in business decisions.

ì`mdgm{`H$ AW©emñÌ H$mo n[a^m{fV H$r{OEŸ& ì`mdgm{`H$ {ZU©̀ m| _| ì`mdgm{`H$
AW©emñÌ H$s ŷ{_H$m H$s {ddoMZm H$s{OEŸ&

OR / AWdm

Explain the law of demand and comment on its main exceptions.

_m§J Ho$ {Z`_ H$s ì`m»`m H$s{OE VWm CgHo$ à_wI AndmXm| H$m {ddoMZ H$s{OEŸ&

Q. 2. Explain optimum factor combination with the help of ISO-product
curves.

g_moËnmX dH«$m| Ho$ Ûmam gmYZm| Ho$ AZyHy$bV_ g§̀ moJ H$s ì`m»`m H$s{OEŸ&

OR / AWdm

Critically examine the Malthusian theory of population. How far it
is applied in developing countries ?

_mëWg Ho$ OZg§»`m {gÕmÝV H$m AmbmoMZmË_H$ narjU H$s{OEŸ& `h {dH$mgerb
Xoem| _| H$hm± VH$ bmJy hmoVm h¡?

Q. 3. Explain the 'General Theory of value' with suitable schedule and
diagram.

"_yë` Ho$ gm_mÝ` {gÕmÝV" H$mo Cn`wº$ Vm{bH$m Ed§ aoIm{MÌ H$s ghm`Vm go
g_PmBEŸ&

OR / AWdm

Explain monopolistic competition. How price is determined under
monopolistic competition ?

EH$m{YH$mamË_H$ à{V`mo{JVm H$mo ñnîQ> H$s{OEŸ& EH$m{YH$mamË_H$ à{V`mo{JVm _|
H$s_V {ZYm©aU H¡$go hmoVm h¡?

Q. 4. Critically examine the Recardian theory of Rent.

[aH$mS>m] Ho$ bJmZ {gÕmÝV H$m AmbmoMVZmË_H$ narjU H$s{OEŸ&

OR / AWdm

Critically explain the Marginal Productivity theory of wages.

_OXyar Ho$ gr_mÝV CËnmXH$Vm {gÕmÝV H$s AmbmoMZmË_H$ ì`m»`m H$s{OEŸ&

Q. 5. What do you mean by Indifference Curves ? Explain their main
characteristics by giving suitable diagrams.

CXmgrZ dH«$m| go Amn Š`m g_PVo h¢? BZH$s à_wI {deofVmE§ Cn ẁŠV aoIm{MÌ
XoH$a g_PmBEŸ&

OR / AWdm

Define National Income. Explain how National Income is measured.

amîQ´>r` Am` H$s n[a^mfm Xr{OEŸ& amîQ´>r` Am` H$s _mn {H$g àH$ma H$s OmVr h¡Ÿ&

���
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PAPER -  VII  : BUSINESS BUDGETING

TIME : 3.00 HRS. MM : 70

Note : Attempt all questions. Each question carries equal marks.

Q. 1. What is budgeting ? Explain the importance of budgeting.

~OQ>Z Š`m h¡? ~OQ>Z Ho$ _hËd H$s {ddoMZm H$s{OEŸ&

OR / AWdm
What precautions should be taken while preparing the budget to make
it viable ? Explain.

~OQ> ~ZmVo g_` Š`m gmdYm{Z`m§ ~aVr OmZr Mm{hE Vm{H$ dh A{YH$ godmàX hmo
gH$o ? g_PmBEŸ&

Q. 2. What is meant by business forecasting ? Explain briefly the various
methods of forecasting.

ì`mdgm{`H$ nydm©Zw_mZm| go Š`m Ame` h¡? nwdm©Zw_mZ H$s {d{^ÝZ {d{Y`m| H$s g§{jßV
_| ì`m»`m H$s{OEŸ&

OR / AWdm
Discuss the essentials elements of business forecasting.

ì`mdgm{`H$ nydm©Zw_mZm| Ho$ Amdí`H$ VËdm| H$s {ddoMZm H$s{OEŸ&

Q. 3. Disucss the utility and limitations of the business forecasting.

ì`mdgm{`H$ nwdm©Zw_mZ H$s Cn`mo{JVm Ed§ gr_mAm| H$m {ddoMZ H$s{OEŸ&

(i) d`-i`-m-@P.T.O.(ii)

OR / AWdm

What is master budget ? How it is prepared ? Illustrate by giving a
suitable example.

_mñQ>a ~OQ> {H$go H$hVo h¢? `h {H$g àH$ma V¡`ma {H$`m OmVm h¡? EH$ Cn`wº$
CXmhaU XoH$a ñnîQ> H$s{OEŸ&

Q. 4. What is cash budget ? Describe the various methods of preparing
cash budget.

amoH$‹S> ~OQ> Š`m h¡ ? amoH$‹S> ~OQ> ~ZmZo H$s {d{^ÝZ ar{V`m| H$m dU©Z H$s{OEŸ&
OR / AWdm

What is flexible budget ? What are the advantages of a flexible
budget?
bmoMerb ~OQ> Š`m h¡? EH$ bmoMerb ~OQ> Ho$ Š`m bm^ h¢?

Q. 5. Define production budget. What are the principal considerations
involved in production budget ?
CËnmXZ ~OQ> H$s n[a^mfm Xr{OEŸ& CËnmXZ ~OQ> ~ZVo g_` {H$Z-{H$Z _w»` ~mVm|
H$mo Ü`mZ _| aIZm Mm{hE ?

OR / AWdm
What factors are to be taken in to consideration while choosing the
best product mix.
gdm}Îm_ CËnmX {_lU H$m M`Z H$aVo g_` {H$Z-{H$Z VËdm| H$mo Ü`mZ _| aIZm
Amdí`H$ hmoJm ?
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